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Samples X and Y Lisll ¥¥*%** BONUS**#+#

The figure below shows two differenl samples of air, keeping in .
ot el o Cadde 13 celggh e b oot alif JEBN <y

mind that particles in sample X are faster than the particles in . "
Thasa o 1000 chlall o Y 2ol 3 Sl gy X 20l

sample Y, which of the following statemenls is correct?

© o0
O ° Q
Q
Y aall X @l
Sample Y Sample X
O Sample Y has a higher average kinetic energy than sample X X Liall lgie 581 Y Zoaall Lpat 28N tasyia
rh-----------h-----ﬂ-----ﬁ------------hﬂhh --------- C R 8 B R R B & L 8 0 B 0 & B & 3 3 & & &0 & 1} |} ---1
: :
- @Samplexis at a higher temperature than sample Y Y dizall e o3 a a0 3 X Al -
: :
L------------------------------------------.--.----------.----.---------------------‘
OSampleY has a higher average thermal energy than sample X X it tgnn el Y it 4y et 2500 L

OThe average potential energy for sample X and Y are equal Y X odiadl A gyidie puiagh @l dansyia



33131 elris The Thermostat

How does the thermostat in the figure below detects Tl e Aoy 4 Tabagh oladl Jcen o Dbl ol (a6 g

an increase in the room temperature?

—

O A switch causes a bimetallic coil 1o curl i P B 1 LA T
An increase in thermal energy causes a bimetallic Sl SN e e o2 ckaghall Al sl
coil lo curl

o A swilch causes a bimelallic coil lo uncurl SHI SN Rl L 8 - bd) Gl

F N R R W SN S S N S SN S SR S S N NS N RSy

@ An increase in thermal energy causes a bimetallic A U R R PPN T At LY
coil to uncurl



wlasl felad) Gaus Ul yinaa Signs for a Chemical Reactions

Which of the following is NOT a sign for chemical change? ¥kl Jelill Sipoa ciliife G el L Las .__.;1

ga |

O Warming

O Color change

Ot i

@ Freezing

L LT T

§

o Bubble forming padlidll (360




r---1

Jelad) sl ewyll Reaction Graph

Which of the following is correct regarding the graph below? Oaliaf lahadall oo s (3l Lo davana 0300 o lalt g

Energy

o !
Time
O Reaction 2 lakes more time than reaction | 1 Jelat o Jota! 105 2 Jelid Gany
............................................................................... -
]
1
@?eaction 2 requires less activation energy than reaction | 1 Oetal ppa Jo laetmasths 002 Jelid ] H
i
1
---------------------------------------.--.--------------------------------------‘
O Reaction 1 is more exothermic than reaction 2 2 Jeldd agbalilatul el [ Jetod

OReaction 2 requires more reactants than reaction 1 1 delal e 6l odloling 02 Jdelal) play



dalall dslaadll General Equation

What is the type of chemical reaction represented -
Polial Aslaall allsd sl ekl Jelith & 4 La
by the equation below? ’ Gl aiilia il £ 53

AB— A+B
OSingIe replacement reaction L_g_ﬂ;J sl Jelas
ODuubIe replacement reaction zoe Jlatid Jelis
OCombustion reaction alpal el



us9'W! Balloon

What correctly explains the balloon rising high in the sky, colaudl el A allaia) gl minea JS5 s i\ L
as shown in the figure below? folial JSaN i LS

O Thermal expansion, since the ballcon's air density increases Aasdlh (Jada elyell AES Mo Bus 1 gyl ) sral)

O Thermal expansion, since the balloon’s air density decreases il Jads elgglt LBS B Caa o gilhadl aaill

OTherma! contraction, since the balloon's air density decreases Staiall Jabs clygh DBS Jio G ogyladl | SLSIY
r-------------------------------------------------------------------------------1
: '
- @Therma'l contraction, since the balloon's air density increases alaiall J40a elggh GBS 22} Cua e ghall SLEW |
' i
L----------------'--------------------------------------------------------------‘



gsl>l Jlacw! lelis Single Replacement Reaction

Which of the following is a single replacement reaction? Sl Jlas Jetis b Laa

O  2Pb(NOs); — 2PbO + 4NO; + O3

O MgCO3 — MgO + CO;



iUl Battery

How does a Batlery generate an electric current in a circuit? AL gl 30l LuL.ﬁs s Ljladl A as
OCreatas negative electric charges and pushes them into the circuit  JUCL | P T IR PR
OMU‘H’EE the negative electric charges that are already in the circuit splall Ll 5agagall LI Solia ) olyas

r--------HH.------'---‘HHH---------ﬂ-.---.---------------------------H-‘--------1
1 1
' [
! @Creates positive electric charges and pushes them into the circuit Bl ) gady diage Sliak A !
' '
. i

ODestrnys positive electric charges, which it pulls from the circuit B e lgad ._,:\.'.1 Loa gall 18U €l a2l il



ayLedl d4e Car Engine

What is the correct sequence of energy transformation

in the car engine?

OMechanIcal — chemical — Thermal Ll — LilaS — 150K,
P e s s b
1 1
1 1
: @Chemical — thermal — mechanical ASilSha — s — LS |
: i
L- ----- S NN SN NN SN BN BN BN NN NN S N SN S R SN SN SN AN AN A A .. ----------------------------------------------‘

OThermaI — kinetic — potential pilmg — A — Lyha

OThermaI — mechanical — potential foag — ASilShe «— Lijha



Balancing Chemical Equations iilas)l OMeladl &3l g *¥**** BONUS ***%*

Which of the following is the correct balanced delill Zasaall 455 jeall dllaall 2 ZJE0 Yol e .-__;!
equation for the chemical reaction below? Calial oiza gl
..... Al +....HCl — ... AICl3 + ....H;

---------------------------------------------------------------------------------

® Al + 3HCI — AICl3 + H;

O 3Al+3HClI — 3AICl3 + 3H;

O 2Al+3HCI — 2AICI; + 2H;



Which of the following statements is correct

regarding the molecules below?

H.O

O Both molecules are polar

OBoth molecules are nonpolar

0, is polar because the shared electrons
Oare pulled equally by the two oxygen atoms

@HZO molecule is polar because the shared electrons are
pulled closer to the oxygen atom than the hydrogen atoms

Ol Molecules

folial cliiall sl Las dauaua 4 lall (]

e B

gt ot (SIS

Gl iy <1 oY Ldd O egyall 2ab

e (350 Ay (gl atad

AL il S Y Lld H,O eogyall 2ad
Oyl S G S Cean €1 53 alas s



L5lasl aanll Chemical Formula

Boron trifluoride molecules contains one boron atom and three o 25l 0 A0, 5aalg Oa)sr B e g el 2y S e gha (ging
fluorine atoms. What is the comrect chemical formula for it? faasmaall 150aS) aiie b

O BsFs

O BsF

O,
oo
T
w



aJldl olylad! Negative Signs

What do the negative signs represent in the below figure? falial IS o AL Sy i 1k
-@- G- - - @
- - - @ - _
- - D - -6 -
@ - - - - @ - —
e L - .7 - =
OMetal’s nuclei Slall (ge8
O Metal’s valance electrons Slall galsall sy pSH)
O Metal’s protons Sl Sl
r----- -------------------------------------------- - N

@ Metal’s inner electrons Slall Zdatall cilig STy



Magnetism dw.blaal ****% BONUS ***+*

Which of the following statements is correct 3l Lo Aauaa 200 o Ll 4
regarding the figures below? falial JICIYL

The malerial in figure 1 can be made using electrical it 2l glaan b Lpas ol oSy 1 S804 salal)

O magnelizers LEpELL
S —— - R —
' '
: @The material in figure 3 represants nonmagnetic ,_,é.f)"- Jie idaohling 2 . Jud 3 i o saladl :
: malerials, e.qg., aluminum :
1 '
h-------------------------------------------------------------—-----------------‘

The material in figure 1 found only naturally in L,..'.._;':’l 5 Taads Laii aalgn 1 JEal 4 5ol
O the Earth's crust and called the lodestone prabaliiall jas caudy
OThe material in figure 2 can be turned into Clje pehlina I lgliead e 2 J8 o Bl

a temporary magnel



oL oylall gadall e 45U yaS dase Metal Doorknob Shock

When you walk across a carpeted floor on a dry day, )
Ll (55l andalls ey Cala oy ~.ri‘ e e q..z.a Laric

T;Ln..‘...aﬂ PR gulll.l .i_i-if_)éSL;...aui.tﬁ.ﬂ;_x._,]_i

and reached for a metal doorknob, you feel a small shock.

What caused this shock?

OElectric insulator S J
[ -
‘ ;
E @Electric discharge P PRVL [P
e M oMM ol o o e —————— ;
(O Etectric field Al el Jlaal

O Electric force ALy 34S1) 3 48l



What is the correct ascending order of the bond
strength (from the weakest — to the strongest)
for the bonds in the figure below?

NEN:  0:0.

abulyll 395 Bond Strength

Alulyll g8 Sum U paall L_;.'!:L.a.'-]l gl e
(B el N 3l WY1 )
€olial JSATL 23y gall Ludly i

HH

H < 02 < N3z

Lowest —> Highest

gy — Y

N, < Hx < O

Lowest —> Highest

gy — sy

Lowest —> Highest

Jyr  — Y




The atoms in the diagram below form a bond fram combining
Na apisgee % slasl e dadl Al ool dasdasell oo 3 )i 3

Sa, Sl Al el (531 prancall el ol Ly C g€ 550 o

sodium atom Na with chlorine atom Cl, which diagram of the

following is the correct representation of the bond formed?

@ l



4S > aslb Kinetic energy

Which of the following has the highest kinetic energy? 948 ol lef Lt ol Las
OA piece of coal before it's burned led g J asill e dalad
OA car parked on a steep hill saaie (B e 468 yia 5 L

D 0 O S .

’ :

" @A football rolling across the court Galdl g 7 jadli a5 S8

1 |

) i

T Y Tttt II T T rr Tt rr P F P TP T I T LT R T F T TP T T I T L IR R PR R R LY o

OA picture hanging on the wall Lilal Ll dilea s yya



Which of the following is the correct representation of M ppaina 153 praaall Sl EU LA JAGN g AJED e o
electron dot diagram for magnesium atom Mg?
magnesium atomic number = 12

2 = ppetadll (g7 s

<
0o



Electricity and Magnetism d.ublsadlg clyg***** BONUS *****

Which of the following statements is correct regarding the figure below? folial (K20 (3l Lot Aanua A0 & jlall g

O

O]

O

Figure 1 is electric generator where the movement of a magnetic field of oliiall Jaall a5 A5 Gaa LS g | 2
the magnet around a coil of wire generates an electric current in the circuit sl & LuL-,‘S s oL Cale Jea pelibieall

magnet
movment E

Figure | is used lo convert nonmagnetic materials into temporary Hya A ddaliaall gt Mgall Lgazl | S8 223
magnetic materials g o dalia,

Figure 2 is an electromagnet that tums a hard magnetic core into ‘!.._,LJL"I alll Jams Fem 45‘__1_,.;5 pecdalian 3 e
a permanent magnet P perhaliea T o)

]

Figure 2 is used to produce lhe electric current that is supplied to homes, Sl 4 235 e ¢L 1Sl Lall ulgl 3 SN anang
buildings, and cities Crally  Aally



